[ Efficiency vs vertpos |

~ 0.05

D.045F oo SR S B
2 : : 5
2 0.04F e
(8] . .
©.085F oo
o : :
£0.03F
0.025F--
0.02F -
0.015F--
0.01F----

0.005

0
1.2

Ratio
=

0.8

-
<

o LA Sl

-
|-

-

S

=
2
N

Efficiend

107 1

10 0
TP vertr (cr%)

2

MKFT_TTorigimar

mkFit_TToriginal-106

<4

mkFit TTNEWMS-genMatch-CUT2

mkFit_TTNEWnoMS-genMatch-CUT2

0.8

0.7

0.6

0.5

efticiency vs vert z

0.4

0.3

0.2

0.1~

Ratio

J__\‘Cllllilllk[;l*: : *3-

0.95!

-20 -10 0 10

20

30

TP vert z (cm)

[ Efficiency vs. sim PV z |

~ 0.05
>
D(_J.045_—
£
=0.04
%.035
3
20.03
@
8.025
()

0.02
0.015

0.0

0.005

.............................

............................

.........

.........

.........

o 10

IS T4

x 11 ----- *+tFtrrtcbr
- S W : R S
0.oH : ARNRNE | :
=10 -5 0 5 10 15

20

éim. PV z (cm)




	Contents
	Page 1


